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Dinosaur Extinction Questions

1. Why did the dinosaurs’ success not last very long?

A large meteor his the Earth, causing the dinosaurs to go extinct.

2. How many years ago did the dinosaurs go extinct?

About 65 Million Years Ago

3. What do most scientists think on how the dinosaurs went extinct? 

Most scientists believe that a meteor hit the Earth’s surface. This is also the most common extinction theory. 

4. What did this event do to the Earth’s surface? The Atmosphere?

It covered the Earth with a thick layer of ash and made very unsuitable living conditions.

5. How did this event affect the dinosaurs?

The dinosaurs were unable to obtain the proper nutrients needed for their daily lives as the ash covered up the sun.

6. What happened to the plants and the plant eating dinosaurs?

The plants died from lack of sun, which then caused the plant dinosaurs to die from lack of food.

7. What happened to the meat eating dinosaurs?

The meat eating dinosaurs, who fed on the plant eating dinosaurs, also died off from lack of food.

8. What kind of animals survived the event?

Little small animals managed to survive the meteor crash

9. If the dinosaurs were still alive, what would have happened to the animals living today?

Many small animals and other species, including humans, would probably not exist today if the dinosaurs were still alive. 

